1L

»
~
—

7 { i

oot B ERT
Yodeif b8 %R 105 Sok

X7
Ly

FI0F 2 RALIIHRE Y

5 WAL

Rk

L1F % 1F

1. +“ ﬁ_,"'riﬁ“ A o
B LA hE ) R - g

(1)4-«73 Mg B A o AR R A B YRR h(6%)

Fend A Snfics g=100K*L” > B P g £
A A Sdkw F oL OB AR

AR KRR T AR A

(3 F + A A S E % RILR S & R 7R P (9%) o

2. ) p@—u.é: B%- pOPEHRH YT - -5 ¥ EFFF‘ 1:}7:&: ,}q% e RS L
# (R) i—fi*“’ftip% EEF o~ o 4 f2 R (0) 0 A Y f*‘i;C BERFH N R S %m!’fw Bade™
R=10e—e® o 23kEFF v xRl ¥ S wo ¥ XFE P~ - Hizwd 8 > e fp 7RKES
A Lo Bk HF kg Rk E**"{'Hﬁ< CHEMF(Tw-e) s PP Y AT
ﬁul“ P HEPEH - FL AR } mﬁmm—u—g =50 = ,@;ﬁjul“—s 74T DA /g;;
e =2 w=hHuEHFRwi 0 B % L2 W=R/2;C > %5 W=R-15¢° 3w & T P4 ¢
(1) T & 2k ERIR-S: N W?\'F\:&%)‘ Hue 4 g,;fg_(]_o%) ;

(Z)PP iR g ik ] P ERBOVI - AN S IR R e p 32 (15%)

3. ik AL A @Jﬁi%:'r%’%“ﬁvj'f%% v%\ % R § %é)wﬁlﬁ% ° 3 NPREERD G AFRM G R
Boan? b RPE FFE A SRR S RFR G ERE R R AT AR D
@%#«1*’H£%.wmmm%ﬂ*'$mmw

4. ﬁwﬂfzq;ﬁméﬁ~++@quPangnn 2380 (10%)

(1) 83 KTV =884 91500 =~ o
(2) za%%ZE FCRE % 3600 & o
(3) z=# § ®# 4100 ~ > ¢ f& 1000 ~ o
(4) =B & 4%k 18000 ~ o
(5) **T4&iFFFTALR > 2 ER4 6007 ~ -
5, dr¥k x 2GR LA T 40T
A 7 S C=160+0.8(Y-T) -
# F @ ¥k 1=500 >
FOREA 2 G=800 >
FLpR & e T=120+0.2Y
& A e X-M=-200
7 el
(1) ~ze@ausged 15 72?7 (6%)
(2) ~:ERehFcRrt dtd 800 4 5 9000 B Wi”@'fﬁ ME 3 R ks 0?2 (T%)
() * Rt N3 % B Tl 120% 5 00 RIERSRRRL RS § 02 (T%)
6. 4%k @ J,E]ﬁ'-'?r;ﬁ P g Ffrin i S ke ™
Z . P=120-2Q » &% P=20+2Q -
(1) ;%_F_ BiLF T R T > Bp S FaubiEh e i 0 (4%)
(2) 4ok ZF SOREERAC0 ~ 0 P GRERET § O RESEHS B RAPE ok R
BR s T iR £ 5 502 (T%)
(3) rdk FTRrHER ST 2 Aehit v (R ) Rl &EE F5? (9%)

-1-




